

① $\frac{dy}{dx} = x + \sin x$, $y_0 = 0$ for $x_0 = 0$

$$y = \int (x + \sin x) dx = \frac{x^2}{2} - \cos x + C \quad \text{IF } x=0, \quad 0 - 1 + C = 0 \quad \text{so } \underline{C=1} \quad \text{AND}$$

$$y = \frac{x^2}{2} - \cos x + 1$$

⑤ $\frac{dx}{dt} = \frac{1}{1-t}$, $x(0) = 2$

$$x = \int \frac{1}{1-t} dt = \ominus \int \frac{(-1)}{1-t} dt = \underline{-\ln|1-t| + C} \quad \text{IF } t=0, \quad -\overset{0}{\ln} 1 + C = 2 \quad \text{so } \underline{C=2}$$

AND $x = -\ln|1-t| + 2$ OR $x = -\ln(1-t) + 2$ FOR $t < 1$

⑦ $\frac{ds}{dt} = \sqrt{3t+1}$, $s(0) = 1$

$$s = \int \sqrt{3t+1} dt \quad \text{Let } u = 3t+1, \quad du = 3 dt$$

$$= \frac{1}{3} \int \sqrt{3t+1} \cdot 3 dt = \frac{1}{3} \int \sqrt{u} du = \frac{1}{3} \int u^{1/2} du = \frac{1}{3} \left[\frac{2}{3} u^{3/2} \right] + C = \underline{\frac{2}{9} (3t+1)^{3/2} + C}$$

WHEN $t=0$, $\frac{2}{9} \cdot 1^{3/2} + C = \frac{2}{9} + C = 1$ so $\underline{C = \frac{7}{9}}$ AND

$$s = \frac{2}{9} (3t+1)^{3/2} + \frac{7}{9}$$

⑧ $\frac{dh}{dt} = 5 - 16t^2$, $h(3) = -11$

$$h = \int (5 - 16t^2) dt = \underline{5t - \frac{16}{3} t^3 + C}$$

WHEN $t=3$, $5(3) - \frac{16}{3} (3)^3 + C = 15 - 144 + C = -11$ so $\underline{C=118}$ AND

$$h = 5t - \frac{16}{3} t^3 + 118$$

⑩ $\frac{dp}{dt} = 3t+1$, $p(0) = 0$

$$p = \int (3t+1) dt = \underline{\frac{3}{2} t^2 + t + C}$$

WHEN $t=0$, $0 + C = 0$ so $\underline{C=0}$ AND

$$p = \frac{3}{2} t^2 + t$$

11) $\frac{dy}{dx} = 3y$, $y_0 = 2$ when $x_0 = 0$

$\int \frac{1}{y} dy = \int 3 dx$, $\ln y = 3x + C$, $y = e^{3x+C} = e^C \cdot e^{3x} = Ae^{3x}$
 when $x=0$, $y=2$; so $2 = A \cdot 1$ and $A=2$! $y = 2e^{3x}$

REMARK since this is the DE for exponential growth, we could also get this answer from the exponential growth formula.

15) $\frac{dh}{ds} = 2h+1$, $h(0) = 4$

$\int \frac{1}{2h+1} dh = \int ds$, $\frac{1}{2} \ln(2h+1) = s + C$, $\ln(2h+1) = 2s + D$

$2h+1 = e^{2s+D} = e^D e^{2s} = Ae^{2s}$, $2h = Ae^{2s} - 1$, $h = \frac{1}{2}(Ae^{2s} - 1)$

when $s=0$, $h=4$: $4 = \frac{1}{2}(A \cdot 1 - 1)$ so $A=9$! $h = \frac{1}{2}(9e^{2s} - 1)$

16) $\frac{dN}{dt} = 5-N$, $N(2) = 3$

$\int \frac{1}{5-N} dN = \int dt$, $-\ln(5-N) = t + C$, $\ln(5-N) = -t - C$,

$5-N = e^{-t-C} = e^{-C} e^{-t} = Ae^{-t}$, $N = 5 - Ae^{-t}$

when $t=2$, $N=3$; so $3 = 5 - Ae^{-2}$, $Ae^{-2} = 2$, $A = 2e^2$

so $N = 5 - (2e^2)e^{-t} = 5 - 2e^{2-t}$

17) $\frac{dN}{dt} = .3N(t)$, $N(0) = 20$

$\int \frac{1}{N} dN = \int .3 dt$, $\ln N = .3t + C$, $N = e^{.3t+C} = e^C e^{.3t} = Ae^{.3t}$

when $t=0$, $N=20$; so $20 = A \cdot 1 = A$ and $N = 20e^{.3t}$

REMARK we could also get this answer from the exponential growth formula.

$N(5) = 20e^{1.5} \approx 90$

19) a) $\frac{1}{N} \frac{dN}{dt} = r$ so $\int \frac{1}{N} dN = \int r dt$, $\ln N = rT + C$, $N = e^{rT+C} = e^C e^{rT} = Ae^{rT}$

where $T=0$ gives $N(0) = A \cdot 1 = A$, so $N = N_0 e^{rT}$

b) TAKING LOGARITHMS GIVES $\log N = \log N_0 + (rT) \log e$ or $\log N = \log N_0 + (r \log e)T$
 IF WE GRAPH N AS A FUNCTION OF T ON SEMILOG PAPER,
 IF WE GRAPH N AS A FUNCTION OF T ON SEMILOG PAPER,
 IF WE GRAPH N AS A FUNCTION OF T ON SEMILOG PAPER,
 $r = \frac{m}{\log e}$ WHERE m IS THE SLOPE OF THE LINE.

c) PLOT THE DATA ON SEMILOG PAPER, FIND THE SLOPE m OF THE RESULTING LINE,
 AND THEN USE $r = \frac{m}{\log e}$ (WHERE $\log e \approx .434$)

20) a) $\frac{dw}{dt} = -\lambda w$, $w(0) = w_0$ so $w = w_0 e^{-\lambda t}$ BY THE EXPONENTIAL GROWTH/DECAY FORMULA.

b) $w = 123e^{-\lambda t}$ since $w_0 = 123$, and $w(5) = 20$ gives $123e^{-5\lambda} = 20$, $e^{-5\lambda} = \frac{20}{123}$,

$-5\lambda = \ln \frac{20}{123}$, $\lambda = \frac{-\frac{1}{5} \ln \frac{20}{123}}{1} = \frac{1}{5} \ln \frac{123}{20}$ (since $\ln \frac{1}{t} = -\ln t$)

when $w = \frac{1}{2}(123)$, $123e^{-\lambda t} = \frac{1}{2}(123)$, $e^{-\lambda t} = \frac{1}{2}$, $-\lambda t = \ln \frac{1}{2}$, $t = \frac{\ln \frac{1}{2}}{-\lambda}$

so $t = (5 \ln \frac{1}{2}) / (\ln \frac{20}{123}) \text{ MIN} = 5 \left(\frac{\ln \frac{1}{2}}{\ln \frac{123}{20}} \right) \text{ MIN} \approx 1.9 \text{ MIN}$